[pb/GeV]

Ratio to CMS

10°

10?

10

[EEY

0.5

7000 GeV pp Jets
= T ] I L R T I R
i <p < <h® < et < i
- Jetp_(385<p <150,3.2<f |<47,h° |<28) _
-~ m CMS =
~ - 8- Pythia 6.428 391 7]
| --%-- Pythia 6.428 393 |

---o-- Pythia 6.428 394
= ®.x_ Pythia 6.428 395 =
- L% .

mcplots.cern.ch [arXiv:1306.3436]

Rivet 3.1.0, = 14M events

- T =F.
- izt ¢ ]
— B /?.-» 4%____ ________ : ;
N gr%g 2 J? ]
i?"::_’ﬂ/. - : 11
a —0.5
L . l . L . L . L . L . l . L . L . L . l
50 100 150

Central Jet P, [GeV]



	Contents
	Page 1


